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Why did they do it?
1 Make sentences about the pictures. 

Use one verb in the past simple and one verb in the past perfect.

e.g. He bought a bike because he’d failed his driving test six times.

1

5

3

2

6

4

buy / bike – 
fail / driving test / six times

leave / quietly – 
steal / jewellery

win / £1000 – 
paint / best picture

sleep / all morning – be / 
at a club / the night before

be / very rich – star / in
lots of successful films

not have / anything to eat
– not go / supermarket

buy / bike – 
fail / driving test / six times

leave / quietly – 
steal / jewellery

win / £1000 – 
paint / best picture

sleep / all morning – be / 
at a club / the night before

be / very rich – star / in
lots of successful films

not have / anything to eat
– not go / supermarket
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2 Look again at the pictures in exercise 1 and complete the questions and answers. 
Use the past simple or past perfect.

Picture

1 How many times .............................................................................. ?

He’d failed it six times.

2 What time ........................................................................................... ?

She woke up at half past twelve.

3 How much money ........................................................................... ?

He ................................................................................................ £1000.

4 .................................................................................................................... ?

No, they hadn’t. They’d forgotten to go.

5 Where .............................................................................................. the

jewellery from?

She ............................................................................................. a shop.

6 ......................................................................................................... poor?

No, they ............................. . They were very rich.

had he failed his driving test

3 What happened before the pictures in exercise 1? 
Write past perfect questions with Why and use your imagination for the answers.

Picture

1 .................................................................................................................................................................................................................................

.................................................................................................................................................................................................................................

2 .................................................................................................................................................................................................................................

.................................................................................................................................................................................................................................

3 .................................................................................................................................................................................................................................

.................................................................................................................................................................................................................................

4 .................................................................................................................................................................................................................................

.................................................................................................................................................................................................................................

5 .................................................................................................................................................................................................................................

.................................................................................................................................................................................................................................

6 .................................................................................................................................................................................................................................

................................................................................................................................................................................................................................. 

Why had he failed his driving test six times?

Because he hadn’t practised enough.

Why had she been at the club?

Because her friend had 
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